SH2 FEREEELEXBAL B
E 5 i =5 5% Zom =5
Al em (U] em (B 2u (L] ea &) 20 (L] ea || 2=
48 1 5,000 1 5,000
5H 1 5,000 1 5,000
6H 0 0
18 0 0
8H 0 0
9H 0 0
10R 0 0
118 1| 10,000 1 3, 800 2| 13,800
128 1 5,000 1 5,000
1H 0 0
2R 1 5,000 1 5,000
3R 0 0
€&t 5| 30,000 1 3,800 6] 33,800

SH2FEREZTESESRXEEZHAR

A B |[ZHERS|XZHE€%E AR

48148 B 5 000|#EZEXRBEHETH
INET 5,000

5818 B 5 000(HEZEEREEETH
INET 5,000

11A48 | =B | 10,000|e2zE82x2E8BEY

118208 | =8 3, 800 E 2R R RERRE |
e 13, 800

128218 FE 5 000|HEEZEEREREH
e 5. 000

2818 FE 5 000|HEEZEEREREH
INEE 5. 000
~ 33, 800




